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#Please answer the next problem 1 and 2:
1.

Consider the demand functions for a pure public good X =12—-2P and X,=18—2P for two consumers,

where P is the price. Suppose the price of all other commodities equal 1. If this public good is supplied by a

X
perfectly competitive market with the marginal cost MC = 3 Then,

(a) The equilibrium price and quantity of this public good is $4 and 10, respectively

(b) The equilibrium price and quantity of this public good is $5 and 12, respectively

(¢) The equilibrium price and quantity of this public good is $5 and 10, respectively

(d) Consumer surplus for both consumers is $45

(e) The total surplus (the sum of consumer surplus and producer surplus) for this public good is $75

[101. 75K < H]
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If the pure public good in the last problem is instead provided in a private market, however, Consumer 1 can
become a free rider and not purchase any of the pure public good. Only Consumer 2 purchases it. Thus,

(a) The equilibrium price and quantity of this public good for Consumer 2 is $4.5 and 10, respectively

(b) Consumer 1’s consumer surplus is $33.75

(c) Consumer 2’s consumer surplusis $25

(d) Producer’s surplus is $25

(e) The total surplus for this public good the $74.25 [101. 5 KA H ]
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&®E

Each potential user of the NTU inter-campus shuttle bus is willing to pay up to NT$27 per ride, provided the
shuttle bus is not crowded. When the shuttle bus becomes crowded, willingness to pay goes down.

2
Specifically, when there are g passengers on the bus, each user is willing to pay up to $( 27 _q_> for a

ride. For simplicity, assume the cost of operating the bus is independent of the number of passengers. (¢
need not be an integer because it can mean the average number of passengers on a bus.)
(A) If it is free to ride the shuttle bus, there are SOﬁ passengers on a bus.

(B) The optimal number of passengers on the bus is 25.

(C) If the university decides to charge $20 for a ride, the number of passengers on the bus is less than the
socially optimal level.

(D) Social gain must increase if the university decide to charge a positive price.

(E) None of the above. [97. 5 KA

answer

(A) If it is free to ride the shuttle bus, there are 30/5 passengers on a bus.

(C) If the university decides to charge $20 for a ride, the number of passengers on the bus is less than the
socially optimal level.
2
q
27T———=0=>¢=30./3
T

’ TB 3 30°
TB=(27--1- q=>d—=0=27——q2=>q=30=>p=27__=18
100 dq 100 100
2
q
27— —20=4=10,/7 <30
100 4=10/7




3.

Considering the following utility function representing a houshold’s preferences for commodities X, and
X,: U<Xl ,X2> = min<5Xl , 3X2>. The household is facing prices P,=$1 and P,=3$3, with a given level
of income, /=$180. Thus,

(a) The optimal level of X is 30

(b) The optimal level of X is 25

(c) The optimal level of X, is 40

(d) The optimal level of X, is 50

(e) The budgetlineis X, +5X,=180 [101. {5 K< H]
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4.

Two duopolistic firms facing the demand functions
q,=18-2P +P, ¢q,=18-2P,+P,
With zero marginal costs. Thus,
(a) The Bertrand equilibrium priceis P, =6
(b) The Bertrand equilibrium quantity is ¢, =10
(¢) Maximizing joint profit, the price is P,=8
(d) Maximizing joint profit, the profit of firm2is z,=$81
(e) Maximizing joint profit, the profit of firm2is 7,=$72

[101. 75K < H]
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[96. 1 K]

answer

a+2c

1(C) 2(E) DLEEIE 3(B) DLEEIE

WEisG : Q=a—P=>P=a—-Q
7T1=PQ1_C1=[a_<Q1+Q2>}Q1_CQ1

87r1_ _ 5 _

30, ——Q1+a—<Q1+Q2>—c—O=> 0,t0,=a-c
77:2=PQ2_C2=[a_<Q1+Q2>}Q2_CQ2

j; =—Q2+a—<Q1+Q2>—c=0=>Q1+2Q2=a—c=>Q1=Q2=a;C

a—c a-—c a+2c
P=a—-Q0=a- + =a-— + =
0=a—(0,+0,) <3 3> 3
fEIgHF © P=MC,=MC,=c

a—=c¢

@ﬁ:‘jﬂb MR=MC1=MC2=>C[—2Q=C=>Q= 5




d.

Consider the following inverse input market demand and supply functions:

inputdemand P=10-Q" ; inputsupply P=2+0Q°

(a) Economic rent of this inputis $10

(b) Economic rent of this input is $8

(c) If now the input market supply curve is P =8, then economic rent of this input is $2
(d) If now the input market supply curve is Q° =4, then economic rent of this input is $24

(e) If now the input market supply curve is Q° =4, then economic rent of this input is $16
[101.55 KM <]

AZPEFH(Economic Rent) : NN BRSBTS S L2 72 -
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6.
fz

Suppose Chen’s Production-Possibility Curve (PPC) be given by the equation 5 + g=150 wheref is the

amount of fish and g the amount of grain she can obtian, depending on the way she divides her time and
effort. Think of g as plotted on the vertical axis and f as plotted on the horizontal axis. Chen’s Marginal Rate

of Substitution in Consumption (the absolute value of an indifference curve) is MRS .= & Then,

(a) Chen’s consumptive optima: f=10, g=50

(b) Chen’s consumptive optima: f=10, g=100

(c) If Chen is discovered by a world marketin which P,=5 and P =1, then her productive optimum is
f=5, g=274

(d) If Chen is discovered by a world marketin which P,=5 and P =1, then her productive optimum is
f=5, g=137.5

(e) If Chen is discovered by a world marketin which P,=5 and P =1, then her productive optimum is
f=10, g=137.5 [101.5 K< H]

&®E

Robinson Crusoe has exactly 12 hours per day to spend catching fish or picking coconuts. He can catch 4
11

fish per hour or he can pick 12 coconuts per hour. His utility function is u(x, y) =x"y’, where x is his

consumption of fish and y is his consumption of coconuts. If he allocates his time in the best possible way

between gathering coconuts or catching fish, his consumption will be the same as it would be if he could buy

fish and coconuts in a competitive market where the price of coconuts is $1.

(A) His income is less than $130 and the price of fish is $3.

(B) His income is less than $140 and the price of fish is $1.

(C) His income is more than $130 and the price of fish is $3.

(D) His income is more than $140 and the price of fish is $1. [96.15 KASHiH]

£ R H
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answer

(A) His income is less than $130 and the price of fish is $3.
(C) His income is more than $130 and the price of fish is $3.

2 1

1_,7

1 3.3
Mu, 3% 7y x y
MRS, = =———== x=4L L =—y=12L =L ="
' —X
7y
d
LAL ="+ =1253x+y=144>3dv +dy=0= MRT=-2 =3
T4 12 I
p

MRS, =MRT=3="=p =3
. ».




7.

The market demand and supply functions for smart phone are:
demand Q'=26-2P ; supply Q°=-9+3P

When the government imposes a sales tax with a tax rate of 7=0.5. Associated with a sales tax,

(a) Consumer surplus is $36, and producer surplus is $6
(b) Consumer surplus is $9, and producer surplus is $24
(c) Deadweight loss is $15, and the amount of taxes collected is $15
(d) Deadweight loss is $10, and the amount of taxes collected is $30

(e) Deadweight loss is $30, and the amount of taxes collected is $30.

[101. 5K H]
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8.

A monopoly with the long-run average cost function LAC and associated marginal cost function LMC:

LAC=6—% s LMC=6-0
Where W is the output. For the monopoly’s output the demand function is:
P
=4.5——
¢ 2
(a) The full-cost pricing is P =$5, and the profitis $1.5
(b) If it’s in a fully contestable market, the monopoly rent is $1.5
(c) If it’s in a fully contestable market, the monopoly rent is 0
(d) The marginal cost pricing is P =$3, and the profitis 0
(e) The marginal cost pricingis P =$3, and the profitis —-4.5 [101.5 K4 H

£ BB HH
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K94 (Long Run Equilibrium) : MR=LMC
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9.
In a clothes market demand function Q¢ and monopoly’s short-run marginal cost function SMC:
N
Q'=26-2P ; SMC=3 +%

When it is in the perfectly price-discriminating monopoly.
(a) Consumer surplus is $24

(b) Producer surplus is $24

(c) Total surplus of the firm is $60

(d) Deadweight loss is $60

(e) Deadweight loss is $36 [101.75 K< ]

&®E
— P 5 EHIRARARITS TC = Q° +25 » TR 0 =30 P » FHERAEE 272 - I
FIF RS 2

(A) 75 (B) 100 (C) 125 (D) 150 [95./57 —#)]

£ R H
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answer

(C) 125

0=30-P=>P=30-Q » TC=Q0"+25=>MC=2Q > 30-0=20=>0=10

2 |10
P=30-10=20 7r=f:)0(30—Q)dQ—<102+25>={30Q—Q7] —125=125

0
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10.

A firm facing the demand functions in two separated markets:
q,=-2P +6 q,=18—2P,+ P,

The short-run total cost function for this firmis SRTC =% + (q + q2>

And total output by the firm, Q=g¢,+q,

(a) The profit maximized output for this firmis Q=4

(b) The price elasticity of demand at the optimal output ¢, is -2

(c) The price elasticity of demand at the optimal output ¢, is -4

(d) The optimal P, in the market 1 is higher than P, in the market 2

(e) The optimal P, in the market 1 is lower than P, in the market2

[101. 75K < H1]

§5.47 5.2-4

T 5 REAE A T B TSI 53 A 1B B EE RIS 2 K 4 0 4 A i8S 120 70
15+ B A E R S/ 2

(A) 90 (B) 50 (C) 60 (D) 70 (E) 80 [97. 1 LB 4511994 A T H 2 4]
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11.

A consumer spends his income on food and rent. He government places a $1 tax on food. To restore the pre-
tax consumption level of food the rebate paid to consumers will be smallest when

(a) The own price elasticity of demand for food is 2, and the income elasticity of demand for food is 5

(b) The own price elasticity of demand for food is 5, and the income elasticity of demand for food is 5

(c) The own price elasticity of demand for food is 2, and the income elasticity of demand for food is 10

(d) The own price elasticity of demand for food is 5, and the income elasticity of demand for food is 10

(e) The own price elasticity of demand for food is 2, and the income elasticity of demand for food is 2

[101. 75K < H]

1

£ BB HH
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SR EE T 1 (The Own-price Elasticity of Demand) :

A-xd
d x Ax* op, ox" p. Olnx’
e .= = . —= [
Y Ap, Ap, x* 0Op, x' Olnp,
P,
B 5 M:(Elastic) : ‘e‘fm‘ > 1 FiE AR
B —7#:(Unit Elastic) © |e” |= 1 F3 51—/
i B (Inelastic) © | | < 1 FRSHLZ M
Ax! ox’
x' x Omlx’
2RI T35 4 (The Income Elasticity of Demand) : e, = - _
Am  0dm  Olnm
m

IEH S (Normal Goods) : ¥ie, > 0 HIIFE X F3IEHI > 20005
OB fh(Necessities) : 0<e <1
Q& 5h(Luxuries) : 1<e,

117 (Neutral Goods) : #7e, =0 HIFE X £ 17504

%Rk (Inferior Goods) : #5e, <0 HIFG X 525550
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12.
Consider the game below:
Moma’s Pop
Have a Create a
Sweepstakes Diet Soda
Weasel’s Pop Use More Caffeine -5,5 10,-10
Use
Animal-Shaped 8,-8 0,0
Bottles

In the game in the payoff table, there is

(a) A mixed strategy equilibrium, and no other

(b) A mixed strategy equilibrium and a pure strategy equilibrium
(c) A mixed strategy equilibrium and two pure strategy equilibria
(d) A mixed strategy equilibrium and four pure strategy equilibrium
(e) No equilibrium in either mixed or pure strategies

[101. 5K H]

#5 4.1-4
A1 N ERREEE )Y normal form o
4
L R
HH U (4,-6) (-5,8)
D (=5.8) (6,-3)
TEME—T) mixed strategy Ff7H > FR{ SRR U BUBERE » ZAH LR 0

[97. 5 K< ]

£ BB 5 H
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%
11 11

25 20
S RIS U SR Es p o A LIUEERES ¢
EU, =pl4g—5(1-q)|+(1-p)[-5¢+6(1-q)]

%=4q—5<1—q)+5q—6<1 —q)=20g—11 —0mg=1
op 20

EU, =g ~6p+8(1=p)|+(1-q)[8p=3(1-p),

OEU, 11

=—6p+8(1—p)—8p+3(1—p)=11—25p=0=>p=2—5
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1.

£ B AE 2011 6F A Y 1 AR BRI 0 o A TR SR BLAR O 44 B 0 43 B FS 10 =4,000- 250P -
¥ =2,000 + 10(P - P*) = TRV BGAHR I b MR 221 260 » SARBL IR 28 L TS S 2

(@ NPT AT AT P S 44 B R Y = 18,090

(b) MMLAEFREFUSLA SATE A I - SIS T | R 10

(© Aam NHRIUAREFIIE T2 > IV B B AR R S R B E AR
(d) B AHRICE I 5 IR > S8 H AR TR & s 2,000

(&) ANMILAREME I T AASE HHIIVME -+ HAEHREE Y= 18,080 [101.55 K<)
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T HETEHA(Static Expectations) :

X=X Eﬁpl_lxj{ﬁ?%%t— IS ¢ 51 x O3l -, ARERES ¢ — 1 B x AU RESE > B
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SEiE 1 FE A (A daptive Expectations) :

X = 0%+ (1-6), x S0 0<O< 1o BRIV — TR R B i o S T B A B A
E SR IR -

TR OAF EARANOMFEIRE O R M IRaE(Systematical Error)

M TEIA(Rational Expectations) :
=B 1) B AR — | IR © HO T — S B S A C R
A MOS0 -
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SRR EEF 5 [k 2008 A BIPR DIl - 5ZERFT R AF 2R PR SRR o S BB PR

» BEPRREL Al B B O B > IR SRl » BAR NYIAHBAR S - (i 2

(a) BB ARSI SRR ARG AR FEACEEORIRG] - FE DA =

(b) RATIEMENPH T AR EAE A SR A SR RS DAHERT SRS S A E T - BERIES el B B

(©) FBIRAL R A - REE S IR AN 8 S SR Rl Y 5 (o

(d) SEERCHE MBS - BORIA TEERAET - (eBHRT TR (S P i Y & A B

(e) BB EOREMBSINAOT » MARF RO TR e AR - RIS b
[101. 55 KM <]

HEFURBR(Asymmetric Information) : 1142 54 J5 e VB #43H -

32 (Adverse Selection)
FIIPA B@ Y (Hid den Characteristics) 7 /- (1) 25 AN BRI -

£ R H
FURIAHZAITTIN 4 5 - RSLAT APV

EFERERE(Moral Hazard) © HIXER5RAITT Bh(Hidden A ction)7E £V E A BIFE T -

FEfFHE (Free Rider) @ RI0a 2 =2 /AL -

Z\BATHE#RE (Open Market Operations, OMO) :
B e R TR DTS E A GEZRRE LI IS BERS - oA AP 135 B SR #E DU I ARG T
o (BB - OF5HEM:(Precision) @ {ffE M (Flexibility) @ H 3 M (Initiati ve)
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[101. 5 K< ]
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PfkHE R RIS i -

Y=ClY=1(Y)]+I(R,Y)+ G + X —1M(Y) -

A

or 1-C (1-T,)-1,+1M,

45°

0

I(R)+G, I(R,)+G,

= <0
oY I,
R A \
Rl
\ o .
I(R)+ G, 15(G,.T,)
I+G O Yy, Yy, Y
S+ T
T‘ S(Yy—7,)+T,
S(Y,—T,)+T, S(Y,—T,)+ T,
S(Y,—T,)+T, S(Y,—T,)+T,
+G 0 Y, v, v
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R

Ra L LM(M,, P,)
R1 \\ Rl
R()

R()
L,=L(R)
0 Lx<R1> Lx<RO> g L, 0 Y, Y, Y
L,a L, a
o L,=L(Y)
45°
L(y,) L,<Y1>
L(v,) L,(Y())

0 L\<R|> L\(Ro) % Lx 0 YO Yl Y
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gERE (Seignorage) :
BIEOR IR Bl S s 5 TSI > S, =u,m, > HPSEoRES ¢« HARY S H S IHAIT IR -
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EE KRR (Inflation Tax)
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B Vel e B RIS R B T ST IR ME AR - B SR & £ 2010~ 2011 4R [ B B X it b
TR EMEOR > ARSI E S H R T - SRS A s B Tn Rl s 2

() EAERIHAMBRZ AR - (e IS gt

(b) EHEEIEABIR N DRI Tl - B PR HTE

(0) FonfErE ST RS CHER A - SRlE B R M HEEIET - R A SE IR A

(d) AENAILALR R R IRERTHIE > (CORTRITRR RS - A5 [ AS e

(e) WEMFAIILMEZ MY EERER L7t S5 SRR [101. 55 KM <]

£ BB HH
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PfkHE R RIS i -

y=Cly-1(Y)|+ (R, Y)+ G+ X —IM(Y) - =

or 1-C (1-T,)-1,+1M,

1

R

<0

15(G,.T,)

0 1(R)+G, I(R)+G, I+G O Yy, Y, Y

S+ T S+ T
A A S(Y—T0>+T0
S(Y,—T,)+T, S(Y,—T,)+ T,
S(Y,—T,)+T, S(Y,—T,)+T,
45° _ _
0 I(R)+G, I(R,)+G, I1+G O Yy, Y, Y
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LA ST PR T T = 100 + 0. Y BIERS T=0.1(y— D )~ L » D Z VLA - LI Fie
B o A SR > o T B R g DR R T MR AG B B M= 1,700+ 0. 1y — 1,000r 4 % 55
M’ =1,300+0. 1y —500r ° ¥R BUTEIMER G/ NG R o [ ERBIE &5t 288 - -
I RYEIER - PNE SIS EIDELINii-7

(a) IS HhAREL LM {hERAMERIRATS - 10 HOC#RER

(b) s FT 1S B R [R5 _L ik

(c) B DY EREH IS - 117 <B Al eREE I L B

(d) EPEMERTRE AN AE - ARE Lk

(e) HABGHS ST TESHE TR BOR IR THIDE A T2 MEB0R [101. 55 K<)
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»

A LM(D,,FR,)

BP(E,) R, \

LM(D,, FR,)

BP(E,)

RO
/ \ =BP(E))
15(G ,.E,)

15(G,.E,)
=15(G  E,)

N\

18(T, .E,)

15(T, . E,)

0 Y, Y 0
ISR BOBCR -

OB ZHE (G, ~ G,)

et - FEHITSE - MK TR (E,~ E,) -

BIPIIE IR + SAEFIES o EORALAA T -

@B (T,~T,)
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BIPI1 FIAR3E » SAEFIES o EORALAA T -

S BUECE -
OB (G~ G,) -
MR > FEHINS > B 7+ (E, ~ E,) -

BIPIIE IR » SAEFIES o LT T -

ORI (T, > T,)
FISAS - R - W% LT (E, ~ E,) -

BIPIIE IR » SEFIS o EORALAA T -

=15(T, LE,)
»




20

IPEIMER N A AT BB EIRY R BOR

R, LM(D,, FR,)
LM(D ., FR,)
R, BP(E,)=BP(E,)
15(G,.E,)
18(G,.E,)
0 Y, Y > Y

PERPELTRSBOR « BINE R (D,~ D)) :
SR - g (Y, > v,) » R 17 (E,~ E,) -
SHREAFIEE A - (XSRS (D + FR,~> D, + FR,) °
SEARPELTIRECE - BINERRY (D~ D,) :
SR > B (Y, > Y,)  BER T (E, > E,) »
SHRE(EISANEE » (TILEAIRD (D, + FR,~ Dy + FR,) -
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BRI LAE 2

(@) FLAIUITS  BIRRIEGHERS AR (et (i s Y W R SH O IR SR (R B

FEH IR

(b) SEFHBEEEATE b AHRELATIRATIE) - S0 Phillips BiSHURAR 2 /75

() A AERT AR RIS » RN B TS U0 ST B 2

(d) BRSPS 0k + SRARTIY] Phillips HIf/Rs » I Phillips AR 23

(&) AP AR BN O S RZRTON » B ST o5 U S 171 - ek
K T SREPRIREE

R
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8.

S E S T RS R B S M A B 0 S U AT T y=C(ray) + 1(r,y) + G HIRE
C.0,<0<C,.I,  FHFREER T EHEE A S » SR FRRHHEA Lo (G s (W) - il
B A A S BB © 7ERTEI CPL RS T » W4 [ 38 BRITRIR » Sk %
T 2

(a) RIREECRI@ AT - (i is e sy

(b) LEME B o I S S T » A BB S 2 B 2 7 B S AN e o

(c) WABBCR R I S S TN - LS R B 2 B 2 7 HH B S A AN e o

(d) EEMEECR RS AAT I I BOECR AT E HE 2

() 1M BR I R A Sz B S Y T BOEGRAT ATREBHERT AR (10145 kA4 H]
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BABOEGE (Fiscal Policy) :
R A R A
m(M,, P,) LM(M, . P,)
. \ / . \
R, N N
\ ’ 15(G,.T,)
\:s(G s T.)> IS(GO ’ T0>
s(G,.T,)
0 Y, Y, Y O Y, Y, Y

R MR BB 5K (Expansionary Fiscal Policy) :
OB 28I (G~ G,) * FIEE ETH(R,~ R,) » EEHS@IN (v, > Y,) -
QBRI (T,~ T,) * IR EFH(R,~R,) » 88 (Y~ Y,) -
BXHE M BA BB 58 (Contractionary Fiscal Policy) :
OBUFZHID (G~ G,) - FIKTHE(R, > R,) » BEHIRD (Y, - Y,) -
@EBURFRRILEN (T, > T,) : MR TRE(R, »R,) » B (Y, > Y,) -

EREBER (Monetary Policy) :
X 4 LM (M 0> Po

LM(M, ., P,)

// \ 15(G,.T,)

[

ol

»

0 Y, Y, Y
PR R %(E;pansionary Monetary Policy) :
BMAEREIE <M0 - M1> HERT R <R0 - Rl> ’ fétﬂim@() - Y1> °
B BB SR (Contractionary Monetary Policy) :
M HRI <Ml ~>M,) : FIF T (Rl —>R0> » EEHIRA (Y, - Y,) ©




9.

1 2008~2009 4F-H IS <=l IR > ST AUE T IR - KSR R R AR
o A RS BT S E (R - TR 1A 2

(a) PEERRa R RTE TSkl ) o B ) RS - SRR R

(b) R ELHE " MR ) RERER TR A RIER T PR TR SR

(o) FEETIG R SRR BE TER I PRI - R ety i ih iR - m2sshes Kill

A
(d) SERERKEDS TRHARBINUS 2555 - — HRgraie B8 &R - R a2y I TRy &

(e) WP ELHE " BRI ) REANEr S LR TR AR SR BT - RIS e MoK ey — i
[101. 5 K< ]

23

258 J1(Labor Force) : N5 HES] HAT R TIF L REIALT -

%3 (Unemployment) : B} 45 TfF HIEAE=4% TAFR A -

PEERME S ZE(Cydical Unemployment) :
HIN SR BB E Y 2 - i )7 U BORI S T -

£ R H
FURIAHZAIFTI 4 5 - LA T AGHEINIYES

B2 itk 25 2 (Disguised Unemployment)

HISEIEARSE - AIARAE AR 13507 BB A TG AR AR 4 -

2535 (Unemployment Rate) : H[I2L3 1 258) /.2 [LK -
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10.

KSHET1ch Solow FRHUMTN SR ARSI RN - 117 L7 4 04 RS Y= 3N K
YIRRZEH  KREDR NS - 39 - SIGRETRTS 30% - TURRIRIITSHRTS 29% » ST
SF 1% - {CFTIRIE T - AR ROV IR ?

@) FATAWR 27

(b) FEAEHIR R 1%

(©) ASESTEISAAS BRI 2% » BEHIARHNS LIHE 2%

() FEPRIGRIRAAE ST R o 15 T TRk

(e) FEE G IEEANEL K15 2% 5 NEETR SR IREE 2% [101.5 KM <]

&®E

Consider an economy in which production is characterized by the neoclassical function Y=K’N~ .
Suppose, again, that it has a savings rate of .1, a population growth rate of .02 and an average depreciation
rate of .03.

Write this production function in per capita form, and find the steady-state values of k and y.

At the steady-state value of K, is there more or less capital than at the golden-rule level?

Determine what savings rate would yield the golden-rule level of capital in this model.

In the context of this neoclassical growth model, can a country have too much saving?

[96. R A £ ]

&0 oW

£ R H
FIRIASEATTIGH 4 73 » AT A

answer

a. sf(k*)=<n+5)k*=>.1k‘5=<.02+.03)k=>k‘5='715=2=>k=4

Y K°N° [K\’
y=—= = | — =k5=2
N N N

: i 5
b f(k)=n+o= 5k =.02+.03=.05 2 k7 === 10>k = 100> k

{1 steady state FEZEAA 74 golden rule FEGEAAF IS -
5
.5
c. flk)=k=10=s,-10=(.02+.03)-100=5 s ==
d. HIA B RiHEES 5 45.1 - b golden rule FAYESHfEE .5 K » B A H BTEEE /K MEADERL ; (H35
(EESRETA golden rule FIESHERE RS » HIF REGE/KHEATS -




11.

R TR - A T RN o R RSN G IR - SRR A PR SR 2

() RATEHEAPITSRNEN > SRR Emn - o2l BIEIRR - m EEHER

(b) RATEHESMEMHES IR > SRR 2 SR 58 GDP B GNP 18%

() WBGB LA T i R lGE PR ¥ - RS e S AR ECa IR

(d) RATHRIGS SR LA SO AECE E IIR - A TR A 12

(e) A TEESME - B r] SRR IR R (A BRI AR A B =2 AESE I
ARHIRIAG [101. 5 K< ]
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gERE (Seignorage) :
BIEOR IR Bl S s 5 TSI > S, =u,m, > HPSEoRES ¢« HARY S H S IHAIT IR -

£ R
FFIARSRSATTGT 4 57 3 AT SRR

EE KRR (Inflation Tax)
IR A (s P SR RSB e » 1T, =a,m,=S,— (m,,, —m,) -
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12.

SIS+ BRI C = 0.7Y + BRI n=3% - $HEF LIZ0R » Biel Harrod-Domar i
R » PR TRTAS TLARRA R 2

(a) FABEHRTBILE (AR L SRR - 15\ A 125

(b) BB THERS I AR SRR + AR HEI SRR 3%

(©) BB EISIE R 6% E R 3%

(d) FSHEE AR - BRI SR

() RXBIPREEIIRR 6% KT H AR MK 3% [101.55 KM= H]

Harrod-Domar E 5 (Harrod-Domar Growth Model) :

tH Roy F. Harrod(1939) Kz Evsey D. Domar(1946)$&H » A Fi 581 J )8 %% (Knife-edge)H 5y » PR
(DLeontief 2F 7 BB QE5 B R R 13 [ o SO ML 5 S BURF 715

B #R =& (Natural Rate of Growth) :
HlJ Harrod-Domar B RAFR FRRF & e 25 Bl (e P R PR A R -

£ BB HH
FIFHASG AT A 4 70 G AL AR A

{738 (Warranted Rate of Growth)
HlJ Harrod-Domar BRI FRRFE fo E AR R TR R -

B @ sp=n+6
sp,n=+0
A
sf=n+90o
sa
k
O k() ﬁ kl‘
B
sp.,n+o sp.,n+4
A A
n+o Sﬁ
:V sa. :V
" B [ ¢4 "+ >—>—>-
s'p % n 9] sa
s’ a &
k | - | -
0 k, kt' 0 ko K kt'

=R
=R




13.

SRS AR AL & REREEER U(r)=a+3r+0.57 +0.27° > r BEEMS IR - £
AUEAET » BRI A (R e 2

(a) SRMESE b 58 - B PR S0 e [R5 e i L Y e S P g B 6

(b) %8 S i g B B e L BT I sty sRIE SRR bR a5 A B R

(o) FRMES R\ B2y JRE R At S I\ B e SR s R AT

(d) F5 BRI SR P Ry st S I - R SR S TR e

(o) RIS LA GG Z il [101. 5 K< ]
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£ B 5 H
FIFHASG AT A 4 70 G AL AR A -

JEBRHEREE (Risk Averter) © E(U(W)) < U(E(W))
U(w)
u(w,)

U(E(W))

E(u(w))

u(w,)

v

0 w, EWwW) W w

8

B EHT# (Risk Lover) © E(U(W))> U(E(W))
u(w)

u(w,)

E(u(w))
u(E(W))

u(w,)

/]

v

0 w, Ew) W w

8




